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Resistance Circles : Range from 0 to 2 step 0.1 & 3 to 10 step 1
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B—FE KNEHE

wE> 3

N, P2 BR/N; REERE, r=1 ,X (1-3)BIREHETESRFHE
B ( constant resistance circles ) A% . REMHELER resist , B
resist = 0% resist =2. 0 2RV ER 0.1 5 Hresist = 3 Z|
resist =10 ZHIMWBER 1.0 ZSHERME1-1 xR, £1-1 K& H%
FHERZCEKX,
#1-1 resist, ¢
/x Draw a Resistance circles x/

/% resist.c *x/
#include <(graphics.h>

main( )
{
int graphdriver=DETECT, graphmode;
float b,bl,a,resist;
int XY
int Xasp ,yasp;
long xlong;

double sin(double),cos(double);
initgraph(&graphdriver, &graphmode,"");

line(90,200,500,200);
line(300,60,300,400);
circle(300,200,180);

/*x draw Resistance circles x/
outtextxy(160,20,"Drawing Resistance Circles"');
cuttextxy( 140,30, "Range from 0.0 to 2.0 step
0.1 & 3.0 to 10");
getaspectratio( &xasp ,&yasp):;
xlong=(420Lx( long)yasp )/( long)xasp;
rectangle(50,18,(int)xlong,50);

for (resist=0;iresist(=2.1;resist=resist+0.1) {
a=l+resist;
bi=1lrsa;
b=b1x%x180;
v=200;
X=480~b;
circle(x, y, b);
}s
for (resist=3;resist(=10;resist=resist+1 ){
azl+resist;
bi=1/a;
b=b1%180;
y=2003
Xx=480~b;
circle(x,y,b);

}s
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£1-1 (8
gatch( );

closegraph( );
return(0);

HEWE PR conduct , H conduct =0 conduct=2.0 ., BE
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Draw Constant Conductance Circles
Conductance Circles : Range from 0 to 2 step 0.1 & 3 to 10 step 1
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#1-2 3%|H conduct.c

/% Draw a conductance circles x/
/* conduct .c X/

#include <(graphics.h?

main()
{
int graphdriver=DETECT, graphmode;
float b,bl,a,conduct;
int X,Y3
int Xasp ,yasp;
long xlong;

double sin(double),cos(double);
initgraph( &graphdriver, &graphmode,"");

line(90,200,500,200);
line( 300,60 ,300,400);
circle(300,200,180);

/* draw conductance circles x/

outtextxy(160,20,"Drawing Conductance circles");

outtextxy(140,30,"Range from 0.0 to 2.0 step
0.1 & 3.0 to 10");

getaspectratio( &xasp,&yasp);

xlong=( 420L%( long))yasp )/( long Ixasp;

rectangle(50,18,(int )xlong,50);

for (conduct=0;conduct(=2.1;conduct=conduct+0.1) {
a=l+conduct;
bi=1/a;
b=b1%180;
y=200;
x=120+b;

}circle(x, ys b);
for (conduct=3;conduct(=10;conduct=conduct+1 ){

a=l+conduct;
bil=1/a;
b=b1%*180;
y=200;
x=120+b;
circle(x,y,b);
}s

getch( );
closegraph( );
return(o);
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Draw Constant Reactance Circles
Reactance Circles : Range from 0 to 2 step 0.1 & 3 to 10 step 1
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#£1-3 3l react,c

/*% Draw reactance civrcles x/
/% react .c X/

#include <graphics.h)
main( )

int graphdriver=DETECT, graphmode;

float b,bl,a,react;
int XY

int Xasp,yasp;
long xlong;

double sin(double),cos(double),atan(double );

struct viewporttype;

int left ,top.right ,bottom;

int clip;

initgraph(&graphdriver, &graphmode,"");

line(140,200,460,200);
l1ine( 300,80 ,300,320);
circle(300,200,160);

/7% draw Reactance circles x/
outtextxy(180,2,"Drawing Reactancee Circles");
outtextxy(150,12,"Range from 0.0 to 2.0 step
0.1 & 3.0 to 10.0");
getaspectratio( &xasp,&vasp);
xlong=(420Lx( long )yasp )/( long I)xasp;
rectangle(50,0,(int)xlong,30);
setviewport(140,80,460,320,1);

for (react=0.1;react(=2.1;react=react+0.1) {
bl=1/react;
b=b1%x160;
a=atan( 160/b)x3.14159265/180;
y=120~-bxcos(a )*x0.75;

x=320;

arc(x, y, 135,290,b);

}s

for (react=3;ireact(=10;react=react+1 )}
bl=1/react;
b=b1x160;

a=zatan(160/b)x3.14159265,/180:;
y=120-bxcos(a)*0.75;
Xx=3203;
arc(x,y,110,250,b);
}s



